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Run 4361 quartetwise, posHQ: Beam DH

Run 4361 quartetwise, negHO: Beam DIN
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Run 4361 quartetwise, asym0Osub: Beam ON
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-------- Histogram Vars

Positive Hel (ON): 9.359142 +/- 0.000862
Negative Hel (ON): 9.428512 +/- 0.000867
Positive Hel (OFF): 7.019662 +/- 0.001207
Negative Hel (OFF): 7.017815 +/- 0.001213

-------- Sums and Diffs
On Diff: -0.069371 +/- 0.000875
Off Diff: 0.001847 +/- 0.001177
On Sum: 18.787654 +/- 0.001491
Off Sum: 14.037476 +/- 0.002114
-------- Asymmetries
On Asym: -14.603847 +/- -0.184392 (ppt)
Off Asym: 0.388878 +/- 0.247785 (ppt)
-------- Bkgd Subtraction
BkSub Sum: 4.750178 +/- 0.002586
BkSub Asym: -14.992725 +/- 0.308865 (ppt)
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Run 4361 quartetwise, posHO vs time
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Run 4361 quartetwise, negHO vs time
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Run 4361 quartetwise, bcm vs time
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